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it il el 6,288 820 13.0 - - -
= E23 R 1,270 169 13.3 37 11 29.7
= F B2 1,245 121 9.7 - - -
= 73 g 2,674 363 13.6 - - -
o H & 1,140 159 13.9 - - -
7] i =] 1,078 119 11.0 - - -
& 5 B 1,974 195 9.9 - - -
x 473 & 3,019 369 12.2 - - -
i X g 2,311 214 9.3 - - -
it 5 B 2,266 268 11.8 - - -
15 £ 2 8,193 1,110 13.5 - - -
+ x g 6,754 738 10.9 - - -
£ ) B 39,576 5,660 14.3 7,078 380 54
o= I B 11,394 1,058 9.3 839 95 11.3
il b, =] 1,004 168 16.7 - - -
= T g 1,196 169 14.1 - - -
A Ji g2 1,271 155 12.2 - - -
& F# g 1,088 204 18.8 - - -
7] B B 888 92 10.4 - - -
pis ¥ g2 2,276 220 9.7 - - -
(53 B g2 2,270 227 10.0 - - -
s fit] 2 4,333 552 12.7 - - -
= 0 B 8,796 946 10.8 - - -
= ) B 1,147 96 8.4 - - -
% H 2 1,444 149 10.3 127 5 3.9
R #B ¥ 5,682 1,011 17.8 - - -
/N i i 15,120 2,309 15.3 - - -
& £ 2 7,270 869 12.0 1,676 168 10.0
= R g2 1,536 198 12.9 - - -
W R 1,491 187 12.5 - - -
5 HY 2 717 90 12.6 - - -
5 1R B2 904 107 11.8 - - -
fit] iF] B 1,631 189 11.6 - - -
I 5 R 3,603 425 11.8 - - -
7] [ g 2,085 264 12.7 - - -
& 5 B 884 143 16.2 - - -
) JI g2 1,094 126 11.5 113 20 17.7
= b% ] 1,716 243 14.2 - - -
= g3l B 977 128 13.1 - - -
B W & - - = - - -
& B g 1,068 156 14.6 - - -
& (o} B 1,286 142 11.0 - - -
i x 2 2,063 316 15.3 - - -
/N 7 ] 1,306 142 10.9 - - -
= o) g 1,064 115 10.8 33 1 3.0
BE R &5 B 1,944 193 9.9 - - -
i 8 B 1,588 132 8.3 — - -
a &t 169,924 21,826 12.8 9,903 680 6.9
L 1% i 1,545 308 19.9 - - -
il a il 812 179 22.0 - - -
S W FEh 283 25 8.8 - - -
¥ % m - - - : : -
] &= | 1,503 373 248 - - -
I 5] ™ 1,266 382 30.2 - - -
HO#E R W 172 42 244 - - -
5 8 ™ 3 i 333 - - -
# fit] Ol 423 65 15.4 213 9 4.2
& 4 - - - . : -
£ & E 785 233 29.7 405 211 92.1
R B i 1,099 263 23.9 - - -
/N i i 333 130 39.0 - - -
® il 809 329 40.7 - - -
= - - - - - -
MW - - - : - -
5 & - - - : - -
E m ™ - - - - - -
I A N 1,441 567 39.3 - - -
RE A il 434 97 22.4 — - -

it 10,908 2,994 27.4 618 220 35.6
a &t 180,832 24,820 13.7 10,521 900 8.6




